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Math 2 Unit 2.1 Examples of Add, Subtract, and Multiple polynomials

Simplify each expression.

1) (5v° +v) = (3v* = 7v?) 2) (6n—4n?) - (6 + 7n?)
3) (6r + 3r3) + (3r - 7r3) - (Zr + 2r3) 4) (Sn3 + n4) - (7n4 + 8n3) - (4n4 + n3)
5) (2x3 —-x+ 2x2) + (5x3 —5x+ 7x2) 6) (SV3 +7 - 3v) + (4\/3 -5- v)

7 (763 =3+ 7k) + (7 + & + 6k) — (k- 2k° — 6)

8) (1+8x>+x2)—(6+3x=7x%) = (8 + 6x% — 4x?)

9) (12— b+8b*+7)—(8b* -2 -5b-2b?) 10) (6v* +3v—8v> +3) + (8 + Tv* + 6 + 4°)
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Find each product.

11) 3(7#* + 70 —8) 12) 8(3m* —3m+4)
13) i(ﬁn + 2) 14) E(2n - Z)
4\8° 2 6 2

15) (7k +2)(4k - 5) 16) (4x +2)(4x — 4)
) (2_5x+i)(2x_é) 18) (lk_é)(ik_i)

6~ 8/\3" 8 77 2\a 2
19) (4x - y)(x - 3y) 20) (3x + 5y)(3x - 6y)
21) (4k* — k= 1)(6k* + Tk + 4) 22) (5k* + 4k +3)(3k* = 2k + 1)
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Math 2 Unit 2.1 Examples of Add, Subtract, and Multiple polynomials

Simplify each expression.

1) (5v° +v) = (3v* = 7v?) 2) (6n—4n?) - (6 + 7n?)
2+ v+ ~11n* +6n-6

3) (6r + 3r3) + (3r - 7r3) - (2r + 2r3) 4) (Sn3 + n4) - (7n4 + 8n3) - (4n4 + n3)
—61° + Tr ~10n* — 4n°

5) (2x3 —-x+ 2x2) + (5x3 —5x+ 7x2) 6) (SV3 +7 - 3v) + (4v3 -5- v)
7x° +9x% — 6x N — 4y +2

7 (763 =3+ 7k) + (7 + & + 6k) — (k- 2k° — 6)
10K° + 12k + 10

8) (1+8x>+x2)—(6+3x=7x%) = (8 + 6x% — 4x?)
19x° — 8x* — 13

9) (12— b+8b*+7)—(8b* -2 -5b-2b?) 10) (6v* +3v—8v> +3) + (8 + Tv* + 6 + 4°)
302 +4b+9 V=4 £ 14 +3v+9
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Find each product.
11) 3(7#* + 70 —8)
21n* +21n—24

2

4\ 8 2
159 15
32 8

15) (7k +2)(4k - 5)
28k* — 27k - 10

17) (2?5)6 + %)(gx — é)

125 , 95 15

X X
18 48 64

19) (4x - y)(x-3y)

4x* — 13xy + 3)°

12) 8(3m* —3m+4)
24m® — 24m + 32

14) E(2n = 1)
6 2

7, 49
—n ——nNn
312

16) (4x +2)(4x — 4)
16x> —8x—8

ol
7 2)\4 2

11 1
ikz—ik i

28 56 4

20) (3x+5y)3x-6y)
9x? — 3xy — 307

21) (4k* — k= 1)(6k* + Tk + 4) 22) (5k% + 4k +3)(3k* =2k + 1)
24k + 22k + 3k — 11k — 4 15k* +2k° + 6k* — 2k + 3
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